Efficiency vs P,

= 0.1
o F
L | S
P
0 S
Q o
(&) - -
EO'O7:_ ----------------------------------------
o o
0.06F- -+ 1 Rt ARTRTRTRRRRN NURTRRRRRI
0.05F - S 00 FESRROS SRR
0.04F -+ S OO
0.03F-+ {11 L 0 OO A
F HEY T H
0.02F--------- i Lo
0.01F -+t TUTE i
o +BF - :
3
a4 L
1__ """" s T

107 1

10 . Gedf’

—=— DQM_TT _original_time
—e— DQM_TT_newscoreonlyINIT_time
—— DQM_TT_modified_time

= 0.2
2 E :
2018+t
2 F :
G016t
S F
£0.14F oA}
® :
0.12F -+
0.0+t
0.08F-------|t
0.06f -+t
0.04F -+
0.02F -1

.................................

..............................

...........................

J_.\‘O_llllill

Ratio
N
T

0.95

Efficiency vs ¢

o 0.2
20 18F
>\0.18;' """"""
Q F:
S0.16F] -4
o

£0.14F -
()

0.12F
0.0F -+
0.08F
0.06F {1+
0.04F T4+
0.02F -+ {+--

...................................

..............................

1.0

Ratio

0.95

LB R R
optt L
g -
+
J.
-+

|
C

|
N




	Contents
	Page 1


